S E Hy | ic K| |é A
AﬂEE”ﬂ EVA'E;EEA"EJ—L
L 06763 ALA AxTF $HEE 15H% / A3} (02)3462-7213 ~ 4 /| A4 3462-7210
A FA - BEFAEAIG I (EAT), B HEH, 99 0 159
FANS: EAAEAGY -
A3} 2016, 4.
S 1A A
2} =z -
= -
A FAAEYgERL
A d A A A
T A} 9 NP rd: 2016.4.8.
Agis: E31 (N0, ) ARAHTAL: ZIEA AL Hed 2 2
A BEEF: Z(HESR) Al o) g 1A Al 2 A5
NEH5L: 2016.4.5. Alg AFA AlZAHY:
9 = Density 2.776 g/ 2AA G P.1 NP A g5 0.M.C 10.1 (%)
AAE A Liquid Limit NP (%) =2FEA A 2u] (CBR) - (%) AN (HNHEHE) 10.4 (%)
2R Plastic Limit NP (%) HURAEBE 9095 o/ AAFSN 8.2 ()
(M')vnrwnﬂnc 1 ‘rw\
A7FESEx%
PERCENT PASSING OF
STEVTE ANAIYSTS
A o] A.7] 5 9 &
A 72 = ;A (mm) (%)
GRADING CURVE OF SIEVE ANALYSIS 75 _
53 -
- 37.5 -
5 26.5 -
op:é)
P 19 .
Y 9.5 -
i 4.75 -
- 2.0 -
0 0.425 -
g 7 0.08 -
Grading Size(mm) pan
w Al 0 KS F 2306:2000, KS F 2302:2002, KS F 2308:2006, KS F 2309:2004, KS F 2303:2000),
KS F 2312:2001, KS F 2320:2000,
% 7)1 0 ASEEA AZA WA 2z
% 9 W8S AT AT Az AHZARY

A K}
4o

MESHAZTAIE 2

14 0| X| & 1 OfX|




d F ¥F oA ¥ X
° ARNE -3 o A&AAR  :2016.4.6.
o A|EH ks F 2306:2000 o 7NEANYA HEPY L¥
° MREE 5 meg) o Al @ A AHASEA 5
Al 58 W = 1
WW: 1322.7 D: W DW: I DV:
DV: 1238.6 TW:  209.1|DW: ™W: EDW: ™W:
Ww: 84.1 Ws: 1029.5|Ww: Ws: [Ww: Ws:
W: 8.2 W: | W:
S |
WW: 1357.7 D: W DW: Eww: DV :
DV: 1269.1 TW: 180.1|DW: W: ti: TV:
Ww:  88.6 Ws: 1089.0Ww: 0 Ws: Ly s
W: 8.1 W: ! W
Bt eaen] W) 8.2 i
Al xR W & ! i
W DY i : D i : DIy
DW: ™W: EDW: ™W: :DW2 TV:
Ww: Ws: | Ww: Ws: [ Ww: Ws:
W: | W: | W:
S | |
W DW: Eww: DW: Eww: DV :
DW: ™W: iDW: v: ti: v:
Ww: Ws: !Wwi Ws: !Wwi Ws:
W ! W ! W
BFFFH] () i i
H] Il




g A A F
o AFWT : E-31 O AlFUA  12016.4.7.
o AW ¢ KS F 2312:2001 o 71&AAR}  Hea 2 LY
O ANAFE I Z(HES) oA & A sy A 5T
= = 8 3 ¢ 2206.55 cnf A 5967.1g
8 2206.55 ci 5967.1 g
4} % 1 2.776
(N E+Z2=)FAl(g) 1 | 10605.0 I 2 | 10730.5 ' 3 | 10875.7
I I
Ao B A (g) 4637.9 | 4763.4 | 4908.6
ALY ((g/cr) 2.102 | 2.159 | 2.295
WW: | 1178.1|DW: lww: | 1423.1|DW: W : 1287.5|DW: |
DW: | 1124.1|TW: | 209.6;DW: | 1338.6/TW:| 208.1[DW: 1187.4|TW: 193.5)
W : 54 Wis:  914.5,w: 84.5Ws:  1130.5|Ww: 100.1 Ws: 993.9)
W: 5.9 W: 7.5 W: 10. 1x
& & o = A ! !
ww: | 1327.1|pW: lyw: | 1323.1|DW: W : 1414.7/DV: |
DW: | 1264.2|TW: | 178.6 |DW: | 1242.3|TW:| 207.4|DW: 1306.9|TW: 179.3]
Ww: 62.9 Ws:  1085.6): 80.8 Ws:  1034.9|Ww: 107.8 Ws:  1127.6
LE 5.8' LE 7.8 LE 9.6!
I
At okr] (%) 5.9 i 7.7 i 9.9
Az = Yd(g/ar) 1.985 | 2.004 | 2.024
d 57 35 A | |
A x9N 2 g/en) - __2'_335 ______ _i.__ __2;2?7 _______ i___ __2'_1T8 ________
(N E4+ZE) A (g) 4 10889.1[ L5 ] 10817.6 .6 ] 10800.0
A2 A 7FA () 4922.0 i 4850.5 i 4832.9
Ao LY t(g/en) 2.231 | 2.198 | 2.190
WW: | 1175.7|DW: lyw: | 1426.0/DW: W : 1286. 1|DW:
DW: | 1083.1| 204| 180.6|DW: | 1277.9|TW:| 174.9|DW: 1137.1|TW: 179.9
W : 92.6Ws:  902.5Ww: 148.1Ws:  1103.0[ww: 149 Ws: 957.2
W: 10.3, W: 13.4! W: 15.6!
g 4 8 5 A -
WW: | 1147.9|DW: byw: [ 1334.4|DW: W : 1311.4/|DW:
DW: | 1056.4|TW: | 180.6/DV: | 1199.3|TW: | 206.2[DV: 1162.1|TW: 175.2
W : 91.5Ws:  875.8[Ww: 135.1Ws:  993.1|ww: 149.3 Ws: 986.9
W: 10.4, W: 13.6; W: 15.1
H 1] W(%) 10.4 i 13.5 i 15.4
AZYUEYd(g/cn) 2.020 | 1.937 | 1.898
g 7] k= 2H
52w e e 2.154 2.019 1.945
H] Il




N
vl
=
]
A
g
H1

I
N
o
]
o

.880
.870
.860
.850
.840
.830 O.M.C=10.1
.820
.810
.800 -

4.0 5.0 6.0 7.0 8.0 9.0 10.0 11.0 12.0 13.0 14.0 15.0 16.0 17.0 18.0




~ W5
R o
= oo ljr
S

—_

XX
X oF
ol &R
TR A
<N X
000

)

2309:2004

1
E

3
F
S

| -
W 22 e
jof ER ojr
R O K
TR R B
CACACS
O 0 O

B-C

X 100

10.4%

=25 (g) 0.08mmA & 2= (%

262.3

o] AxFA(g)

1498.5

3748.0

2249.5

2511.8




9 2= AE

H & E-31
o Al & WM KS F 2308:2006
= 5 Z(HES)

o 71 HeH 7 SE

oA @ A Asd

= % Ll kel 1 2 H] 3L
v & H 9 H 3 24 31
H o % Wt (g) 79.241 81.912
H W + /75 Wai (g) 327.351] 329.869
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1. om STHARS BaH =7
NO 1 NO 2
o 826. 1 W 816.4
Dw 778.1 Tw 187.9  Ow 7671 Tw 197.8
W 8.0 Ws 590.2 W 49.3 s 569.3
W= 8.1 = 8.7%
Hagtadl  8.4%
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75.0m | 1 | 43710 | 437.10 0.00| 0.0% | 0.0% | 100.0%
53.0m | 2 | 461.90 | 461.90 0.00 | 0.0% | 0.0% | 100.0%
37.5mn | 3 | 471.60 | 471.60 0.00 | 0.0% | 0.0% | 100.0%
26.5mn | 4 | 469.50 | 585.10 | 115.60 | 4.1% | 4.1% | 95.9%
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o5mn | 6 | 48970 | 741.00| 251.30 | 8.8% | 19.3% | 80.7%
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9:30 1440 0.0070] 0.0070 155.8 0.1 0.3290 0.0039 0.0013 25 0.0020f 0.0090 12.2% 3. 4%
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0.425mm(NO.40) 2 369.7 398.2 28.50 24 .8% 49 .0% 51.0% 29.2%
0.25mm(NO.60) 3 380.0 396.5 16.50 14..3% 63.4% 36.6% 21.0%
0.106mm(NO. 140) 4 345 .1 364.2 19.10 16.6% 80.0% 20.0% 11.5%
0.075mm(NO.200) 5 352.0 353.9 1.90 1.7% 81.6% 18.4% 10.5%
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